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TrackML ordering

» Hits are ordered by hit_id mEmmm)> Now sorted by increasing r

hit id, tx, iz, tpx,tpy, tpz,
-80.9456, -1562.5
-85.8414, - .5 .748309, -0.0482825, -1
-55.6029, - .5 .31981,-0.0822062, -35
-91.9881, - .5 .215943, -9.0481328, -3
-68.1597, - .5 .64949,-0.0550967,-14.1
-89.0733, 5,-9.33948,-0.832797,-158.115,

-34.5591, -1582.5,273214, -202257, - 940450,
-46.6731, -1502.5,-0.149702,0.0291769, -3.55807
-66.7133, -15082.5,-0.816136, -0.0396834, -

-B4.8123, 5,-2.29166,

-90.6612, 5,-0.671139

-72.6399, -1502.5,-0.766712,0.0356306, -15

-136.497, -1502, -0.207892,0.0341211, -2
-167.817, -1582,285499, -33313.5, -95786¢

-152.347, -1502,-0.403204,0.0413873, -3.95€

-117.585, ] ,-0.264455,0.0390799,-3.3

-149.285, -1502, -3.0065, -0.154082, -30.1

-124.664, -1502,-1.17538, -0.0549401, -14. 298
-139.849, -1582,-670351,324178, -667487,

-185.828, -1502,-1.43561,0.0430129, -20.2756

-118.636, -1502, -9.216825, -0.0508236, -

-118.324, -1498,-0.21766, -0.0497417, -2.
-139.088, -1498,-217577,-117578, -968935
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Ao distribution

78 602 test particles
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Ao distribution after scattering cut
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Impact on predictions

pirve vs ppred ((tr, dg, tz) - (qlpr. P2))
No scattering cut
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Impact on predictions

Scattering cut (test only)

plre vs pPd ((tr, do, tz) - (q/pT. P2))

10 = 10 o
# ’
’I ,’
J, ’l
’f’ "J
B 1 ’,’ 8 ] I’,
, 5
s ’
e rd
,’, ’,I
rd Cd
— i # — E te
= 6 ¥ > 6 e
v 5 v ’.-
O e S, -
td rd
r rd
E‘u—- - EU—- -
Q. 4 1 ’J O 4 ”
e -
I rd
” rd
f” ’f’
2 "1 2 - ”p
/' MSE Model /’ Quantile Loss Model
. pTr_rue = p.?_red ,I' —— p?r_rue = p.?_!ed
0 T T T T T 0 T T T T T
2 4 5} 8 10 2 4 5} 8 10

prie [GeV]

prie [GeV]




Impact on resolutions

No scattering cut

o0 Relative resolution for pr ((tr, deo, tz) = (q/pT, p2))
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7.5 1

5.0 1

2.5 4

[%]

0.0

p?"'d _ p]gue
pirE

—2.5

_5.0_

—7.5 1

-10.0

pie [GeV]




Impact on resolutions

Scattering cut (test only)

oo Relative resolution for pr ((tr, deo, tz) = (q/pT, p2))
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Signed pr vs unsigned

pirue vs pPe ((tr, do, tz) - (pr, P2))

Unsigned
No scattering cut
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Sighed pr vs unsighed

Signed

No scattering cut

pirue vs pp"d ((tr, do, tz) = (g *pT, P2))
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Signhed pr Vs

Signed

No scattering cut
10.0

unsigned

Relative resolution for pr ((tr, de, tz) = (g *p1, Pz))
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Signed pr vs unsigned

Signed

No scattering

Density

Relative Error Distributions for g* pr (1 GeV < pr < 2 GeV) ((tr, do, tz) = (g * pT1, pPz))
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Signed pr vs unsigned

Unsigned
No scattering cut

Relative Error Distributions for pr (1 GeV < pr < 2 GeV) ((tx, ty, tz) = (pr1, pPz))
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Loss and charge sign

Metrics over Steps ((tr, dg, tz) - (g/p1, p:))
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Architecture optimization

No scattering cut
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Computation of dO

Using Lorentz force




Computation of dO
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Some inspections
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Ap [rad]

Some inspections
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